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ia = I'mcos(cost) (3.1)
ib = Imcos(cost- ") (3.2)
ic = I'mcos(cost + " ) (3.3)
Ws = P_f(l)r
2

as rad/s

Pf

Im

(Os

t ()

ab C

d (direct or d-axis)
q (quadrature or g-axis) [1]

d
q d 90
d 9= Qrt
a (radian) @
(radls) 't (second) 32
abc abc
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kd (damper winding) d
kg (damper winding) g
k
WU q unud

ifg

: UNUYBINT a
Ikd
3.2
ea,eh,ec (instantaneous voltage) abc
(ground)
1a,ib,ic (instantaneous  current) abec
efd
ifd kd kg
R fd,R kd,R kg
£aa £bb Ecc
Aab'hcca

Eafd, £akd , £akg
ECRLEkkd , Ekkg
Ra



(differential operator)

ea =P9a -R aia
eb =P9b -R aib
ec = P<Pc - Raie

opa 5o 59¢ ab C

"aa = Raa0 + Raa2 cos 20
"oh = Raa0 + Raa2 c0s2(0 —)
Moc ~ RaaO 3'Laa2 cos2(0 +—)

M = Mg = —RebO —Rah2 cos(20 +Y)
My = A = —RabO ~ Rab2 cos(20 )

Lap2=La2 La0 &

Mafd - Rafd GO0

Makd ~ Rakd COS0
Naf| = —Rafq SIn0
L aal

L aa2

L avz

~
S—

—_

L w
S—

© 2

310)

(310
(31

613
(314
(315

ab
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L afd
a
L akd
d a
L afg
q a
b 9 0--2p ¢ 0
0+-y
92 —hata b ac Ifdefd 3'kd"akd —kotakg  (3.16)
O —la" d —b"bD 3Ic"he rfcbfd Fikdbkd —kgbkg )
9c —ata *Ib"oe —ctee 3'lfocfd Fikdckd <kqtckg  (3.19)
efd = P9fd + Rfdifd (3-19
0 —p<pkd + R kd'kd (3.20)
0 —pcpkq + R kalkq (3.21)
9fd =" ffdifd + *kdjkd
Mafd[iacos0+1acos(0--y) +iacos(0+")] (3.22)
9kd = Mkdifd + *kkdJkd
akd[i3cos0 +iacos(0--y-) +iacos(0 +y-)] (323)
9kq ="kkgikq +"akq[iacos0 +iaC{e - ) +ia0Bye+ Y1 (324)
32 dqo (dao transformation or Park’s transformational]

doO
37) (319



(transformation matrix)

c0s9  cos(0--y)  cos(0+")
P=-sin0 -sin(0- ) =sin(0+1f)

(inverse transformation matrix)
COS0 -sin0 1
P4=cos(0-y) -sin0- ¢
cos(0+1f) -sin(0+-)

0 (zero sequence)
(symmetrical components) doO

‘d = Imsin(cest-0)
i = - Imcos(cost-0)
0-]( +ib+ic)
0

—Lal) La0 -"aa2
Lq —L330 + LaB0 —=L aa?
Lo = Laa0 - 2L a0

(3.25)

(3.26)

(3.27)
(3.28)
(3.29)

(3.30)
(3.31)
(3.32)
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= —RdM +7afdLid 1 "akdd (3.33)

" = —Lglg +1akg"g (3.34)
= (3.35)
Md = MdJfd + AMkd'kd —2:akdM (3.36)
9kd = Mkdifd + ~kkdikd - f ~akdjd (3.37)
"Pkg = Mkka!kg —"J-akgig (3.38)
ed =P9d -<Pqp0-Raid (3.39)
eq =P9q +9dPe - Raig (3.40)
eo =P90 - Raio (341)
0, =8

terminal —Pf —"ala ehlb

= (e did + eqiq + 2€0i0) (3.42)
t = |[(idPPd-rigP g+ 2i0P0)
+(9diq -qy dK
“ 0d +ig + 2i()Ra] (343
(3.43)
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Te = ffadig -(Pqid)@-)rn’]‘ea

= f(<Pdiq -<Pqid)y (3.44)
Te (air-gap torque)
33 (per unit quantity)][l]
R Cne
(3.42)

Lal(Lalreciprocal system)

«

(hase value) 549
331 [1]
3- <t>MVAbese = MVA
e base = peak line-to-neutral voltage
’ : _ MVA basb
1 hase = peak line current =
@ hase

oase
® base — 27tfbas6

2
®m,base = whase
Ash _ "sbase

s,base 1 base

s hase
"sbase ® base
9 hase ~ L s,basel s,base

naiifan
iorti3 E|



332 1]

Rad
Ifdl,base A
RAfd base
' Rad
kd.base iy 1 base
A Rad
q.base Rdkg 1 base
fdb 3- (j)MVAbase
P Nl hase
7fd hase 3 —<j)MVAbash _ e fd base
| ifdbase  kdbase
- 3- ()MV Abase
Akdjhase
3-4»MVAbse
Nk, base
"g.hase
d.base
R fd base A\
kd,base
R kd base -
kg, base
Pl ® hase
Thase — 3- (|)MVAbase
® mbase
(base —
®base
3.3.3 ]
ed = PPd — A3 (3.46)
eq = P'Pg *{Pd@r —R a'q 347
e0 = P90 ~ Raio 34
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Ld=Lad+L,

Lg Lag+L|

Lad —L afd —Lfda —L akd —L kda

Lag —"akq ~ L kep

NMkd = Akaf
L! (leakage inductance)
Lad, Lag d q
Ld,Lq d g

efd = P9fd + R fdifd

0=P9ld +RIdild
0 = p<Piq + R lgllq

0 = P<P2q + R 229

<Fd= _Ldid+ Ladifd+ L adikd
99 = —Lqlg + Lagl[q + Lagl2q
90 = L0io

<Pfd = Mfdifd + A fkPId-- L adid
<Pld = Mldifd +*1ld'ld ~ L adid
9lg =™Ilq'lg + AﬁﬂZ]"‘Laqlq
929 = Laq'lg +"220*2q - Laglg

(359)
(3.54)
(3.55)

3.56
3.57
3.58

3.59

_ ~— ~—— ~—
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Te =(Pdig - (pgiq

pt =edid+eqiqg+2e0i0

34 (equation of motion)[l]
torque) (mechanical torque)
(accelerate)
Ta=Tm-Te
Ta (accelerate torque)
m N.m
Te N.m

J if=Ta=Tm T«

24

(3.60)

(3.61)

(electromagnetic

(decelerate)

(3.62)

N.m

369)

kg- 2



(3.60)
(inertia constant) H

1 JkafL MW o 364)
\VAbase MVA '
01
(3.64) (3.63)
2~ AAbase’\dt' =Ta=Tm-Tpe
wOm
2H &< 1 /(°0m) = ~( 365
dt( ) VAba36/®%m (365
Thase =V A base/coOm
2H-"L=Tm-Te (3.66)
(3.66)
, = A= 1P A 0 67)
1 rad/s
0
rad
0 t=0

0= rt— Qt+060Q

(3.68)

25



~f- = CDr - ©0 = Acor
dt

d20 d(Or _ d(Acor)

dt2 ~ dt dt
dcer d(Acer)
= ] r - n » *
dcor /dt (3.70)
2H d25 _ T T,
®0 dt2

(damping torque)

(swing equation)

=Tm-T e-K DA(6r
®0 dt2

35 (Simplified Model)[I]

(steady state)
P9d pcpq

(3.49) - (359)

ed =-9q®r —RaM —9q —"-ard
eq = (Pd®r —R-a'q = £d —alq
9d = “Ldid+ Ladifd

q —Lalg
9fd = —L adld +: ffcdfd

cor«1 pu

(3.69)

(370)

(3.70)

(3.70)

(3.72)

26

ild = iiq =12g = 0



efd = P<Pfd + R fdifd
POfd = efd _ R fdifd

(3.73)-(3.77)

El =L adifd

= ifd
Eqg ==*+

q /\fdgfd

= 9fd
E Ead

q RTdefd

= efd
Ld =

yd(_Td_) LTd L ad

Td0 e«d

Rl = _Ldid+E]
9g=-Lgig

Eq=El" (Ed-E d)id
pEq - , (Efd EI)
TdO

Tao

constant)
Td
constant)

27

(3.78)

(3.79)

(3.80)

(3.80)

d (d-axis open-circuit transient time

d (d-axis short-circuit transient time



g

éd=-jXqlg -R ald
Eg =—x di5+E|—Ralg
El =Eq+j(Xd-X q)id
Et=éd+éq
£ =
=Et+(Ra+|Xd)lt
Eq = E q
= 6 +Raiq +jX did
Eq = Ra+jXq
- Et+(Ra+jXq)lt
= 6q + Raiq + jXqid

X=L

R,i

\

28

(3.73)- (3.78)

(392)

~>H X qiq
‘;———XQM
i ’ E B, &
> > = <.
5 ' )
1Xqlt
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3.6 (classical model)[l]

Eq cpfd
(salient pole) x d Xq E'

9ad ~ Ead( 1d + 3.93
( Lfd) (39
9aq —Eag( lg+" ) (3.94)
lad- . 1 =0Ld L (3.95)
| Lad Lfd
Lag = Lg —Lj (3.9)
L ad a d
L aq a g
Ld d
Lg q
L fd
ed =-Raid + X qig + Ed 0-9 )
eq = -Raig “ x did +Eq (3-98)
Et=éd+éq=ed+jeq
=E - (Ra+jxd)lf (39)
Ed=-coLag("-) (3.100)

Eq =colal(”-) (3.101)



"L,

Lkd,Lkg

(transient model)

(R) (1) a d
35
—————— N AN\
Xd Ra It

34

30

34



IA

..................... E
A
Eq 5 Ed
>
Er
35
£
E =Et0+(Ra+jXd)lt
(subtransient circuit)

Pad =L"ad[-id+ "N -+ 7 -]

<PagLag 1N+ ]

Lyaj - _1________\_________ = L'd - L].

Lad™ Lfd™ Lid
Lag=Lq-L1

Lad
L aq

M —Rald+Xqlg + Ed
Kl — a%g—dnd 3'Eg
Et = eéd +éq ZE - (Ra+jx'd)it

(3.103)

(3.104)
(3-105)

(3.106)

(3.107)

(3.108)
(3.109)

(3.110)



Ed=-fFILA[M +13-]

E'qg=0)L;d[51L +B ]
Lfd LId

(subtransient modelé

5
3.6
3.1
3.7
(thevenin’s equivalent) 3 38
[
zeq=Re +)XE

39

(3.111)

(3.112)

3.6

32



z4

Zl
—= } L
ZQ z5
1 76
_ X
Zj1r
3.7
E Ep
@—{—E__—I infinite bus
Zeq =RE +jXg
38
Et
Ii NN I
E £0 & de | Xg
\/
Xt
39
E Xd
EB
E,
,
0 E' Eg



39 E’

EZ0°-EBZ-8 E -E b(coso6- jsind)
1 iXT iXT

XT=Xd+XE

(complex power)  Xd

'=P +jQ =EIt*
_£70¢\E ~E b(coso: jsins)
I xi :
E'E . JE'(E" - EQ cosd)
27/
(conjugate)
(air gap torque)
=p=—_A_qinC
T =P 7 sin O
8 = 80 (linearization)

ATe=" A8=""co0s80(A8)

p= (differential operator)

pAcor = ~ (Tm-T e-K DAcor)

p8 = (o"eer

34

(3.114)

(3.115)

(3.115)

(3.116)

(3.72)

(3.117)
(3.118)
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(17 (3118)

pAcor = -M—{ATIL- K95 - K DAG)) (3.119)
PAS = co0Aclr (3.120)
Ks (synchronizing torque)
Ks= €0s50 (3.121)
L adu d
L aqu q
L ads d
L ads q
K sd d
K sq q
Ksd=Ksg (round
rotor)
Lads = K sdL adu (3.122)
Lags = K sqL aqu (3.123)
S(1.0)
(1.2)L:] (E) e’
"Pair-gap 3.10[1,13]
(3.124)

K=5 (3.125)



) = Bsa, (E -1 e (3126)

K
9air-gap or E
A
I |« | o S L
I |
| |
! !
| +—————————— -1 :
| 1! |
! |
| L |
| L |
1 p | |
I 1! |
| = |
! || |
| o | |
PN I
! = |
I Il |
= | >
Bio Bi2Arg A1 ifd
gﬂﬁ 3.10 ﬁﬂumzauﬁﬁuean153nﬁa (characteristic of saturation)
S(1.0)=Bsa 1-~ *)2 (3.127)
S(12)=Bsa 12- A 12 (3.129)
3
Clisio) frag ,
"2 (D) (12-Asat) (3.129)



(3.123)

-1, 2N’
AS&I—’ l'N

o— S(-0)
(1-A Sa,)2

12+ (12)

A
SO 4 9 psar)2

1 Bsat

1 Bsat(i o + ®sat,.
2250l = |

(3.124) - (3.126)

Ksd —K g =g

E =E{+(Ra+X]){

PVd = "o(efd R fdifd)

"o ’l‘:)fd C) O*“fd’sfd
HIT/\EdJ

Vd = —L,id+ Las—d+1d)
=-L,id+Md

(dynamic)

(3.130)

(3.131)

(3.132)

(3.133)

(3.122)

(3.134)

(3.35)

(3.136)

(3.137)
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Vg =-L,iq+La-ig)
=-L,ig +V4q

Vfd = Lads(_id + ifd) + Lfo*fd
= Vad + Lfdifd
Vifd-Vad

fd=" bfg

(3.137) - (3.139)

y & = ~Lads" + Lablfd
~ Latpd+ A (Vid Ha)

- gk ¥an
hagsl! ! \Itfdj

Vag ~  Lags'q
be= A1l
Lads™ Lfd

Te=MVg "M §d

= Vadiq - Magid

ed=-Rad"V,
-Raid+ (L,iq- ¥aq)
-R .igq+ Vfd

Raq- (L,id-M/a)

€q

(3.138)

(3.139)

(3.140)

(3.141)

(3.142)

(3.143)

(3-144)

(3.145)

(3.146)

38



3.9 d q

Et=ed+]jeq
es=-cen0+]EB)
it =id+jig

39 (3.147)

Et=Eg+(Re+jXE)It
(ed+ jeq) = (EBd+EBG) + (RE+]XE)(id+]iq)

(3.151)

ed =R Eid - X Eig *EBqg
eq=REiqg- XEid +EBqg

EBd=E Bsind
EBg=E Bcoso

(3.141), (3.142), (3.145), (3.146), (3.152)  (3.153)

XTQMA(T L )- EgcosS]- RtEbsing
id: ------------------- ads+ fd—

Ri[Vd(T L 1- ) - EBcosS]-X TtEBsin5

RT=RatRE
x,q=XE+(LagstL )= XE+X
xTd=xE+ (Eadtl,) = XE+ X'
D=R*+XTXT

(3.147)
(3.149)
(3.149)

(3.150)
(3.151)

(3.150)
(3.159)

(3.154)
(3.155)
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(3159)

(3.144)

(14) (314
Aid = m A§ + m2A7:H
Aig= AS+ Al

EB(XTsin80-R tcostl)

! D
. Eb(Rtsin00-X Tdcosdl)
D

mo=IT LA+l

= AT k ads
D Lad+ L fd

(3141) @)

AVad = L ads[A id + mid
- [Rfa --m2]L'abAv);fd-m A A O

Mad o= - LagsAig

= -n 2L agsAMMd - n il agsAS
(3.140) (3.168)

AVid “ AVad
Alfd =

I_“ﬁds oL A +7A-m Last0

(3162), (3163), (3168)  (3.169)

(3162)
(3163)

(3.164)
(3.165)
(3.166)

(3.167)

(3.152)

(3.168)

(3-169)

(3170)
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AT, "VadoAiq + iqQAya-VaqlAid
= K,A8 + K 2Ajfd

= (Vab L id)—m.(/ o+Lak o)

K2= 2(Iflab+ Lafido) - 2(VacO+ Lakigp) + )'/[*fd- a0

\\Ldo (initial value)  Vjfad

1) | (power factor angle) ()
2) d K Sq X d X qs
) 3

7 I,xqsmﬁ(j)- 1R aSintj)
Et +1r, 008<) +ItXpSind

4) ed) = Etsindj
e = Etcosdj
5) EBD=ed—RED+XE

"BO= ec) 44 BOr*X B
6) 50=tan-[ A
B0

—

= tand

= N-EBD + E_BqO
61%_ eq0+ Ra}q0+ Ldslj0

"als
E o = Ladifal)
§) ab= Eal{~go+Lit)
#f) Eafd

(3.170) (3.136)

M = |+pT3 [AEfd - K 4A5]

(3.171)

(3.172)
(3.173)

(3.137H3.144)

(3.174)
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K, = Lad* +Lfd !

Lall j+7-(X a-Xa)

y _Lab+Lf 1

“°RdT+A (X d-Xd)
XT sin00- RXcosd0)

- "ab

Kl Ladum_l_'_de(
(3.148)

o=zed+jeq

Erze2+e2

(Et0+ AEt)2=(ed0+ Aed)2+ (eq0 + Aeq)2

L toAEt = ed0Aed +eq0Aeq
AEt=" -Aed+ * Aeq
to Mo

(3.152)  (3.153)

Aed = -RaAid+ LiAig" AVag

Aeg=-RaAig-L .Aid+ AVad

(3.180)

AE (= K5A6 + K g AVl

(3.179)

(3.175)

(3.176)

(3.177)

(3.178)

(3.179)

(3.180)

(3-181)
(3-182)

(3.183)
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Ks==rA-[-Ram|+LInl+Lagsnl
0’| |

1%% -Ranl“ Lim!|~Ladsml

K* = 9,18 [-Ram2 +L[n2 + Lag 2

+ O _Ran2-L,m2-Lads(- -
'to L fd

')

Gex() (transfer function)
(block diagram) 31
3.12

Avref

1 +
AEt T+sT > )——*Gex(5)

311

43

(3184)

(3.185)

(exciter)

-AEfd



+ AEg 7 K;
—O— Gex(s) ToeT,

Av

+

44

AS

2Hs+Kp Ao,

l+lsTR . \_/: KSI
312
312 (3.186)
Gex()=Ka
Ko K1 K2 0
Acar 2H 2H 2H ACOr
Ad o o o o A
0 K3K4 1 K3Ka
A(Pfd t3 t3 t3 A <Pfd
. 0 k5 k 6 1 ‘
AV L tr tr Tr AV
w0
0 0
Al (3.171)
0 K3KA Avref
t3

0 0



3.8

input

(power system stabilizer or PSS)

2 [1,13]

(synchronizing torque)

(power angle deviation ,

(damping torque)

(rotor speed deviation , * )

(excitation  system)

KStab,TW,Tl T2

sTw
| +sTw

3.13

313

1+sT,
1+sT2

output

45
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